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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 10 × 2 = 20
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 (IÊS> - "A')
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 Explain.

	 (i)	 Labour				  

		  l{‘H$

	 (ii)	 Bonded Labour

		  ~§YwAm ‘OXÿa

	 (iii)	 Small Scale Industry

		  bKw CÚmoJ

	 (iv)	 Factory

		  H$maImZm

	 (v)	 Natural justice

		  àmH¥${VH$ Ý¶m¶

	 (vi)	 Labour force

		  l‘ ~b

	 (vii)	Agriculture Labour

		  Io{Vha ‘OXÿa

	 (viii)	Unorganized Labour

		  Ag§J{R>V l{‘H$

	 (ix)	 Economic Liberalization

		  Am{W©H$ CXmarH$aU
	 (x)	 Labour Bureau

		  l‘ ã¶yamo
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	 Section - B	 4 × 10 = 40
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 10 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$m| H$m h¡&

2)	 Explain ‘Labour Economics’.

	 "l‘ AW©emñÌ' H$mo g‘Pm¶o&

3)	 Explain Unemployment and its Kinds.

	 ~oamoOJmar d CgHo$ àH$mam| H$mo g‘Pm¶o&

4)	 Explain main sources of ‘Labour Statistics’.

	 "l‘ gm§»¶H$s' Ho$ à‘wI ñÌmoVm| H$mo g‘Pm¶o&

5)	 Explain ‘Labour Turnover’.

	 "l‘ AmdV©' H$mo g‘Pm¶o&

6)	 Explain problems of Unorganized Labourers.

	 Ag§J{R>V l{‘H$m| H$s g‘ñ¶mAm| H$mo g‘Pm¶o&

7)	 Explain problems of Agriculture Labourers.

	 Io{Vha ‘OXÿam| H$s g‘ñ¶mAm| H$mo g‘Pm¶o&

8)	 Explain causes of rural unemployment.

	 J«m‘rU ~oamoOJmar Ho$ H$maUm| H$mo g‘Pm¶o&

9)	 Explain problems of Industrial Development.

	 Am¡Úmo{JH$ {dH$mg H$s g‘ñ¶mAm| H$mo g‘Pm¶o&
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	 Section - C	 2 × 20 = 40
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
20 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 20 A§H$m| H$m h¡& 

10)	 Explain meaning, scope and importance of Labour Economics.

	 l‘ AW©emó Ho$ AW©, ì¶m{ßV Am¡a ‘hÎd H$mo g‘Pm¶o&

11)	 Explain meaning, scope and importance of Labour Statistics.

	 l‘ gm§»¶H$s Ho$ AW©, ì¶m{ßV Am¡a ‘hÎd H$mo g‘Pm¶o&

12)	 Explain problems before large scale industrial development.

	 ~‹S>o ñVa Ho$ CÚmoJm| H$mo gm‘Zm H$s OmZo dmbr g‘ñ¶mAm| H$mo g‘Pm¶o&

13)	 Explain main feature of Indian Labour Statistics Act, 1953.

	 ^maVr¶ l‘ gm§»¶H$s A{Y{Z¶‘, 1953 Ho$ à‘wI àmdYmZm| H$mo g‘Pm¶o&


